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BOOK SOURCE SPLIT UP
TITLE STD NEW | TERM Exercise
OLD
Number System 8 OLD 1 1.4
9 OLD 25,26
9 NEW 2 21to2.4
R.S.AGGARWAL | Page No: 3-50, 877 - 883
(2020 Edition)
Squares : (1 to 10) (11 to 20)
102 =100 202 =400
12=1 92 =81 112=121 192 = 361
22=4 82 =64 122 =144 182 =324
32=9 72 =49 132=169 172 =289
42=16  62=36 142 =196 162 =256
52=25 152 =225
(21 - 30)
212 =441 302 =900
222 =484 292 = 841
232 =529 282 =784
242 =576 272=729
252 =625 262 =676
Cubes : (1 to 15)
13=1 8% =512
23=8 93 =729
33=27 103 =1000
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43 = 64 113 =1331
53 =125 123 =1728
63 =216 133 =2197
73=343 143 = 2744

15% =3375

Prime numbers (1 to 100)

1-10 —2,3,5,7 —4
11 -20 —11,13,17,19 — 4
21 -30 — 23,29 — 2
31-40 — 31,37 — 2
41 - 50 — 41, 43, 47 — 3
51 - 60 — 53,59 — 2
61 -70 — 61, 67 — 2
71 -80 —71,73,79 — 3
81 -90 — 83, 89 — 2
91 -100 — 97 —1

Co prime numbers (or) relative prime numbers

If the HCF of two numbers is 1 then the numbers are said to be co-primes
(or) relatively prime.

Twin prime numbers:
If there is present only one composite number between them.

Phythagoren Triplet numbers:

Let a, b, c are three numbers a2 + b2 = ¢2 (is a highest number)
above condition is satisfied, then, a, b, ¢ are called phythagoren triplet
numbers.

Amicable numbers (or) (Friendly numbers)

Consider the numbers 220 & 284

Sum of the divisions of 220 (excluding 220)
=1+2+4+5+10+11+20+22
+44 +55+110=284

sum of the division of 284 (excluding 284)

2| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




=1+2+4+71+142=220
Thus sum of divisors of one number excluding it self is the other. such
pair of number called Amicable numbers (or) Friendly numbers.
Kaprekar number:

The represnstention of its square in that base can be split into two parts
where the second part has digits, that add to the original numbers.

FMTUSIT  6T6RTH6IT:
Bm aevidefler  15.0uT.eu 1 eleled  HIUGIEUETIHET  FTTLIGT
6T6U0T B GITT(GHLD.

B ML ST 616MIH6IT:

Bm UBT eTIHEHHG DL Gul b UG 6wl SHHIHTE0 DbHEH LSBT 6I6mIHei
@I ML LIST 61601&56MTGLD.

UgTaged (paimer OHTGHg 6I16mIsHeir:

Uareged CommHms Heme| OFUIUD elemidseT LISTHI6D cpSBer  6CHTE )
616U B GG LD.

BewisiF 6IwIH6T (Or) [BLL| CTEwRIHET:

B\m oTenideNell  UGHIHHeMeT FmBHHO DbHH elewienenT  HalTHFH  LOBOMT(H
eTeuuTen6ml  LOM3l oMMl SH(HLD 6T6WIH6NT B)60ImIE, 616WTI5H6NT.

Gzl SBIT 6TEUIHEIT:

QUH oTewienlledl UTHBD Leidhl DUBenB HUTERISNTS LIfdHEH  eumHD
oTeTHOT 6 Fn(HHSHGHF FIOD 6160160 DieU0leU6TH6T CHLIMNBT 6T160T1H6NMTG)LD.

Divisibility Rules:

Divisibility by 2: (2 SO UGLL)
If an even number (&g enL  eTewr)

Divisibility by 3 :
If sum of the digits divided by 3
Be0SHBMIBNT Fn(BHFHe0 CLIBTEL U@GLIL Gouewt(BLD.

Divisibility by 4 :
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If last two digits are divisible by 4.
SMLE BH BevHBmIFH6T 4 S0 aU@GLL  Geuewi(BLD.

Divisibility by 5:
If its last digit is either O (or) 5
HMLE BevhHD “0° 9Ie06VEH 560 (1pIgUIBGaIemT(HLD.

Divisibility by 6 :
If its divisible by 2 & 3 (@yemi(h BB cPHBTO uGLL Couawi(hLd)

Divisibility by 7 :
Cross off last digit double it and subtract. Repeat the process. If new

number is divisible by 7, the original number is divided by 7.

LS  DQEBHMB @(H IOLEIGSTHS  OH(LP6ITeN  6lewIenied  HLPSHS
GouewwiBo. BbHFH OFwied (pewmenw! Lewihd LWewIBD OCFUIgH DIbFH  6T6w
7 L6V QUGSLULILLT6D (LD 6Tewiamid 7 60 6U@GLDBLD.

Divisibility by 8 :
If last 3 digits is divisible by 8. seLd cpaip Sevdsmiser 8 &60
aI@GUL  Geuent(HLD.

Divisibility by 9 :
If the sum of all the digits is divisible by 9. smansg Sevbsnisefe
FgBDHL 9 v uGLL Geuewr(HLd.

Divisibility by 11:

I.  subtract the unit digit from the remaining number. If new number
is divisible by 11 (or) new number is zero. The original numbers is
divided by

(or)
II. sum of the odd digits is equall to the sum of the even digits.

QBB BevbBHmSB OH(LpeiTern eTewienleV(hbdh HPHGD Burdl Db
olewt 11 &60 auGUBLD  elewTeTHGouT  9IeLEVSHI Lexgluid  aub HTG6uT,
9 GTENLOUITE 616001 SeidHl 11 960 auGUBLD.

Divisibility by 13:

Add 4 times the last digit to the remaining truncated number Repeat the

step as necessary. If the result is divisible by 13 the original number is
also divisible by 13 same process for 17 & 19.
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17 - subtract 5 times the last digit from remaining truncated number.
19 - Add 2 times the last digit from remaining truncated number

13 &L60 6UGLIL:

sMLE  BQevdbsHHE 4 ILESe0 @[hHHDH  LOHPETeT  eTewmIenenIdh  Fnl L
CauamiBD. Bhs OFwepmpenul 13 o0 SbhS 6w aGLEGD COFHTLY
Gouawi(hd. BHOFH allewl 13 60 UGLULLTEO b (P eTewiamid 13 &ed
aUGL(BLD.

86sx6umev GlFwed(penBHTer 17 WwBEBID 19 &HGLD.

17 — smLd BevdbdHm®H 5 IOLMISTHS LOSHP6ITen 6lewienisd G(HhH HHHD
Gouemwr(pLb.

19 — soLd BevdsHmd G IOLESTHES  BH(LPIT6N 6160 681 Fnl L
Gouewr(pLb.
Bhs OFWeOIPmBMW DiHSH 6160 GLBLD Uy (LY 6TewTenlleud GGHTL
Gouemr(hLb.

Natural Numbers:

A natural number is an Integer greater than 0. Natural numbers
begin 1 and increment to infinity: 1, 2, 3, 4, 5 ........ etc. These numbers also
called counting numbers.

Whole Numbers:

If zero is included in the collection of Natural numbers (N) we get the
collection of whole Numbers (W), W ={0, 1, 2....}

0 is the smallest whole number

Integers:
% Integers are a collection of Natural numbers, Zero and negative
numbers.

Rational Numbers:
% A number that canbe in the form a/b, Where a and b are integers and
b=o0 is called a rational number.

Irrational Numbers:
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% An irrational number is a non-terminating and non-recuring decimal,

i.e. it cannot be written in form £, where p and q are both integers
q

and q =0.
NUMBER SYSTEM & NUMBER SERIES

The missing term of the following sequence is 4, 5, ? 40, 104, 229,
&SBpuleiten GHTLT auflenguiled alpBul L etewiemmengl 4, b, ?, 40, 104, 229,
a. 6 b.13 c. 14 d. 22

What would be the next term of the sequence 2, 5,9, 19, 37, ?
Hetaumd OHTLfled SiBdHal au@mbd o _miny e& 2,5,9,19,37,7?
a. 67 b. 76 c.75 d. 87

Given below are two series with specific pattern What will come in the
plate of (e)?

&6 aThHSHaLIUL Beiten, GBIUILL o SHFHBEHLT Snigul BH OCHTLTHerM60,
(€)-65T I HITeuIH.

a.173 b. 153 c. 171 d. 151

7 13 29 53 113 217
5 a. b c d (e

Insert the missing number.

&C8pujeiten OHTLT euflenguiled aNBUL L 6TewT6mIT6IS)
2,6,12,20, 30, 42, 56 :

a. 62 b.72 c. 64 d. 68

Find the missing number

&C8pujeiten OHTLT euflenguiled alBLL L 6T6wT6mIT6IS)
1,3,3,6,7,9,?2,12,21

a. 10 b.11 c.12 d.13

How can we called the following sequence?

1,1,2,3,5,8,13,21, 34....
a. Ficconabi sequence b. Finocabci sequence
c. Fibonacci sequence d. Finabocci sequence

aeim OHTLT euflengenul LleTeu(HeuaTeuBmIeT 6IITHI SIMLDSHHEVTD?
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8.

10.

11.

12.

T
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a. UGsmenmll QL Teuflens b. I8amamif G Teufleng
c. UBuneimasl QT iTeulleng d. WemBurd G Teuflens

Two series are given below with specific pattern.

What will come in the place of (e)?

S8 OGarhdaiul L GUUUILL o SHFHHEHLET gmigul B OHTLTHelsd (e)
—601 LDFHLIL] HTCUOIS.

6 18 36 108 216 648
2 @ () © @ (@
a. 482 b. 344 c. 216 d. 420

WRONG NUMBERS SERIES:

Find the wrong number in the series.
CETBHBIULL CHTLTe0 DIEMIHSH SHEUBTE 6T6HIEN6NI EHT6WIH.
2,9,28, 65,126, 216, 344
a.2 b. 28 c. 65 d. 216
Find the wrong number in the series.
CaTBHBILLL OHTLTe0 DIMIHSH HEUMBTENT 6T63T6N6M0IH HTEWIH.
10, 14, 28, 32, 64, 68,132
a. 32 b. 132 c.14 d. 6
Find out the odd number in the series given 25, 36, 49, 81, 121, 169, 225
LNesteu(pLd eTemidbell OHTL Touflenguiled QUT(HHHTH 6T6uTeN6m0IH SHTEMIH.
25, 36,49, 81,121, 169, 225
a. 36 b. 49 c. 169 d. 225
Level - 1
Which of the following is a prime number?
SLDHHEILUBISIE0 61FH LIST 616017
a. 241 b. 338 c. 391 d. 575
Sum of three consecutive integers is 45, find the integers

SbS556SS UG WD WPREBNET  SBBHO  45  aafld B
(LP(LDBBHMETTE  HTEUI5b.

a.15,16,17 b. 14,15,16 c.13,14,15 d.16,17,18
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13. Find the number of prime factor of 1024
1024 &1 LUBTHHTT 60T H6IGT  6T6U0T6w01 b6 S
a. 9 b. 10 c. 11 d.12

14. How many prime numbers between 50 to 100.
50 @ 100 @b Qe Gl DIEWIHSIGTEN LIST 6160TH6II60 616116015 60H
a. 13 b.9 c.8 d. 10

15. Find the number which when multiplied by 15 is increased by 196?
QM elewl  15-60 OQuUBSSILUBL  QuUTgd 196 SIFSOTHBH 6Tl  DHSD
61600160)6001&H  &HIT6001 5.
a. 14 b. 20 c.26 d. 28

16. (v-a)(v-b)(v-¢c)(v-d)..... (Vv-2z)=
a.v2-v (atb) +ab b.v -v2(at+b) + ab
c. 1 d.0

17.  Along a yard 225 meters long, 26 trees are planted at equal distance,
one tree being at each end of the yard. What is the distance between
two consecutive trees?
225 15 pen(peiien @b (WBBHIET CFHT_SBS5Il0 BBHH SmiSleuny 26
LOJMIB6T  FLOOSHTMEVATD — DIEHIOHSEIGT6NET 61160  @aIGeUT(H  WFHIHBESLD
BenL_ B o _6iTem HMJLD 6l6laI6T6|7
a. 8 metres b. 9 metres c. 10 metres d. 15 metres

18.  The product of two consecutive numbers is 4032. Find the numbers
Qe DBSSBHS canidelar GQLBBSM 4032 Gl@led ObHSH  GTEBIHEEN
BITIB.
a. 61, 62 b. 64, 65 c. 63, 64 d. 62, 63

Level I1

19. The students of a class donated I 4624 for Chief Minister’s State Relief

Fund. Each student donated as many rupees as the number of students
in the class. Find the number of students in the class.

R QG0 2 6iTem OTEUTUTH6T eh. 4624-emul  (1pHevemIDEFF e  1DTHleV
Beurgent HHWTSH OCFIHH T, eUGCeUT(H LOTETOIHLD HTFH LRISTES Hed)
AUGLILNGD 2 6o  LOTEWITHOMGIT  6lewTemNHendHEG — FIODTET  OHTENHEMU
CBTHHHET 6laNe0 UGLILI6D 2 66 LOTENTUTHET 6IdHFHemest GuiT?

a. 64 b. 68 c. 62 d.78

8 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




|APRE> L]

20. Mangalam buys a water jug of capacity 3% litre. If she another Jug
which is 2% times as large as the smaller jug, how many litre one hold?
LDMRIGHGYTLD 3% OILLT OsmeTeneney OFTewWIL e Hewiewiid & HemeuuLD,

SlemsL Gumeiy 2% LM DIHH CFmeienene] OBTewIL LOBOMBT(H FHeuoTeuiT
Gl  UTRIGHMTET  eleoled, Ouflw  GHBHeveu  eT6leueTey  GUILLIT
Hewreniongdh 6HT6TEHLD?
a. 101 b. 1021 c. 102 ] d. 102 1

15 15 15 15

21. In an examination, a students scores 4 marks for every correct answer
and loses 1 mark for every wrong answer. If he attempts in all 60
questions and secures 130 marks, the number of questions he attempts

correctly, is:

@ GCxiTaled @ LT @6aI6eT(H FHWTe almL G 4 WHICLHIHET
QUBIFBTT. elCUT(H Heummer allewL &G 1 WHIGILIEHT G&GMBoHBLILIBS MBS
60 Gazetalshg alewLwailiugear cpsod SauT 130  WHIGUNISH6T  CUBMITT
aeled oluT Fllwns el wieldhsd alleimaaerien 616601 S ms?

a. 35 b. 38 c. 40 d. 42

22. A man earns Rs. 20 on the first day and spends Rs. 15 on the next day.
He again earns Rs. 20 on the third day and spends Rs. 15 on the fourth
day. if he continues to save like this, how soon will he have Rs.60 in
hand?

QH elHel (PFHeO [HTemed h 20 FLGHBIT. DbBHH BHT6T e 15 0
CFeLaUIHSIBIT. cpeiimTaugdl BHredled ¢h 20 FL(HHMIT. BTEISHTAIH! HT6N6L
15 Ogeveufsdpri. &6s wrdHfl CHTLABHSTEL, edHHemeanTausdl bHreed
SlrH mduled ep 60 WL B B (HEBEGLD?

a. on 17th day b.on27th day c.on30thday d.on 40t day

Level II1
23. 1 + 1 + 1 oo, 1
1x2 2x3 3x4 99x100
. 2 b, 100 o 4. 10
99 99 100 101
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24.

25.

26.

Find the sum: -+, t ¢t 2 1t 1t 1 1,1 1

— +—t+—+—+ —
2 6 12 20 30 42 56 72 90 110 132
11 1 1 1 1 1 1 1 1 1

FnbBDHL BTG —+—F—+—+— +—+—F——F—+—+——
2 6 12 20 30 42 56 72 90 110 132
a. ! b. 2 o B 4 ¥
8 12 16 18

Kavi and kural each had a number of apples Kavi said to Kural "If you
give me 4 of your apples my number will be thrice yours'. Kural replied
"If you give me 26, my number will be twice yours. How many did each

have with them?

salullL(pdb, GmeflLpd oilell  UPHIGET 2o effenerl. b eleidhG 4
LIDBIG6TSH  HHBHT6L, 6T LD © 6Tem  LIPmIGH6iTen elewienldbend 2 66l LD
o eitemendll Gumev cpeiiyl WLMIEG 6l el GHBETLLD FaPemT. B el6abh@
26  UIPMISMENSH  HHDHT6D  6lOTILID 2 6iT6l  LIDKIGH6T6N 6160016001 8H60SH,
o aelLld 2 6TeneHLICUTe0 E(H OLMISTGHID , 6160  GM6T  LIZHeV6ITSHTTT.
oTeonlo0  gellOleumHeullL(LpIb 266N  LIPWISH6IT6H 616016015 D 6161666 ?

a. 40,12 b. 36, 36 460, 22 d. 57,15

A The sum of a number and its reciprocal is %7 Find the numbers.

O cew DPPID OB SoEPUIE BB %7 srafled  SieIGaIGTIEAT
wimemeu?

a.5 % b. 6, -6 c.6,

Solution:

d. 5,-1
5

|-

Let the number be x then and its reciprocal is %

1 37
X 6
. X*+1 _37
X 6
6x2+ 6 =37x
6x2-37x +6=0
‘o —b+4+/b®—4ac
2a
—(-37)+((-37)" -4.6.6
- 2.6
37435
12
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12 12 6
.. The numbers be 6, %

27. If one fifth of one third of one fourth of a number is 2 then the number
1S
QT  olewlemledll  MHHEL @(hH LRSI cpeiiisled 6(H LIS [HT6iIdSe0  6(h
LG 2 elelled 9|616\66usT

a. 50 b. 60 c. 100 d. 120
Solution:
11
ZX=—x=xXx=2
5 3 4
= X=2x4x3x5
=x=120

28. In a two digit number, the digit in the unit place is twice of the digit in
the tenth place. If the digits are reversed, the new number is 27 more
than the given number. find the number
T mlleudbas erewienled, QEIBTD B Bevdbd 66w, USHSTD B Eevdsd
oTe0TemeuuTLIGLITED  @)(h  IOLMISTS 2 6iTeNgl.  @evHdBmBeT G 1D OTsleTTeL
HLEGD UHw  etewt  CBThHSHHLIULL  elawienewiall. 27 SIFHHWD  6eT6lleL
OamhebaIILL L Fllevdhd oTewlensiriss &H6enl(BLIIGS .

a. 63 b. 36 c. 93 d. 39
Solution:
Original number = (10y + x)
Reversed number = (10x + y)
(10x +y) - (10y + x) = 27
9x -9y =27
X-y= 2
9
xX-y=3
We know that, x =2y
2y-y=3
y=3andx=6
~10y+x=10x3+6=36
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29. In an examination, a student was asked to find % of a certain number.

By mistake, he found %of that number. His answer was 150 more than

the correct answer. The number is:
BxTal6d (I LDTEWTEUGT ()  6T60316M600T %4 6L CUHBGHUSBGSL LSHeOTH
% 960 OLIHBBNTeD B HGWD alewLuwimerdl, Filwmer alemLenul ol 150
DIHHODN60, DibHSH 61601 61601601
a. 180 b. 240 c. 280 d. 290
Solution:

Let the required number be x

So, as per the question,
3x  3X

2222150
4 14
21x—6x:150
:150><28:28O
15
3 5 7 9
30. The sum of the first 99 terms of the series ~+—+—+—+..........
4 36 144 400
OHTLfled o0 99 2 miisellet gmBHFHe0 HTewId E+E _ i+
D &2 R "4 36 144 400 T
a, 2 b, 22 o, 99 d.1
100 1000 10000
Solution:
3_22-r
4 22717
5 3-2
36 3222
5—22_12+32_22+42_32+52_42+ +992—982+1002—992
2212 3222 423 524 7 00%98%  100%99°
_22_12+32_22+ . 99> 98 +1002 99’
2212 2212 3222 3222 7 09208%° 99208% 100%.99% 100%99
11 1 1 1 1 1 1 1 1

ettt —
12 2 3 3 7 98° 99° 99*° 100°
1 1 10000-1 _ 9999

1 100 10000 10000
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NUMBER SYSTEM & NUMBER SERIES
WORK SHEET

1 2314|567 8910
B C/ B B/ DC/CD| B A
111213 /14|15 /16|17 18 |19 1 20
A'B B DAD B C/B|C
21122123124 125126 2728 29|30
B ACB C CDB|C C
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